CHEVROLET

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




CHEVROLET

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 3 info@parsrot.com




—
sy L and

2nd Gen
CH-12391 CH-12961
Rotbasi Rotbasi
Onig Onig
26056098 26059036
CH-11385 CH-11625
Rotil Rotil
On Alt On Ust
88965475 9767112
CH-11984 CD-14110
Rotil Z-Rot
On Ust On
15687080 12542993

1500, GMT800

CH-14436 CH-13430
Z-Rot Rot Mili
On Arka
10385580 26091588
CH-13433 CH-12431
Rot Mili Rotbasi
Onig On Dig
19152329 15891515
CH-11435 CH-11435
Rotil Rotil
On Alt On Alt
2WD 2WD
19207137 19207137
CH-12431 CH-13433
Rotbasi Rot Mili
OnDig Onig
15891515 19152329

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

CHEVROLET

1995-2005

info@parsrot.com



Rot sy

ATl

= [and
AVALANCHE 2500, GMT800
CH-13430 CH-14436
Rot Mili Z-Rot
Arka On
_ 26091588 10385580
AVEO T250
CH-13203 CH-12201
Rot Mili Rotbasi
I@m ] On On Sag
M12x1,5Rht-L=201mm M12x1,5Rht
96535300 93740723
CH-12202 CH-11205
- Rotbasi Rotil
Pt_:‘ OnSol  On Al
M12x1,5Rht 96535089
93740722
|
CH-16209N DAW-14311
— Rotilsiz Salincak Z-Rot
On Sol Alt On
96870465  L=262mm
96391875
CH-16208 CH-16209
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
96870466 96870465
CH-16208N CH-20584
Rotilsiz Salincak Salincak Burcu
On Arka
96535082 C96653381
CH-20585
N Salincak Burcu
| ! Orta
96535087

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

CHEVROLET

2001-2006

2005-2011

parsrot.com

info@parsrot.com



AT
”“Laml

CHEVROLET
T300 2011-2016
CH-12251 CH-12261
Rotbasi Rotbasi
On On
M14x1,5 (Only:HYDRO.PS) M14x1,5
95952930 95218373
CH-16258 CH-16259
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
95017036 95017035
CH-16258N CH-16259N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
95017036 95017035
CH-14250 CH-13253
Z-Rot Rot Mili
On On
L=295mm witheps
95465758 95952929
|
CH-11254
Rotil
On Alt
95916024
2nd Gen 1995-2005
CH-12561 CH-11625
Rotbasi Rotil
On Dis On Ust
8260549360 9767112
CH-12571 CH-11555
Rotbasi Rotil
On On Alt
31026500 88967425

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

6 info@parsrot.com



Rot sy

== Land CHEVROLET
BLAZER 2nd Gen 1995-2005
CH-11585 CH-11595
Rotil Rotil
On Alt On Ust
RWD 4WD
- 22145460 19133669 -
| |
CH-14560 CH-14562
— Z-Rot Z-Rot
Arka On
15697702 15991383
| |
CH-14590 CH-420
Z-Rot Z-Rot
On On
15024511 15996064
CH-596
Z-Rot
On
K700526
CAMARO 2nd-3rd Gen 1970-1992
|
BU-14160 BU-14190
Z-Rot Z-Rot
Arka On
25940977 15571395
CAMARO 4th Gen 1993-2002
| .|
CH-13653 CH-12651
Rot Mili Rotbasi
On On Dis
15221006 21011027
5th Gen 2010-2015
.|
CH-13633
Rot Mili

n
* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrc‘;fbom-:‘?’:f 92227430 info@parsrot.com



Rot sy

== Land CHEVROLET
CAMARO 5th Gen 2010-2015
|
CH-12631 CH-16638
= Rotbasi Rotilli Salincak
On On Sag Alt On
92241266 92236898
CH-16639 CH-16640
Rotilli Salincak Rotilli Salincak
On Sol Alt On On Sag
92236899 20951301
CH-16641 CH-14630
Rotilli Salincak Z-Rot
On Sol Arka
20951300 22900200
CH-14636 CH-14637
Z-Rot Z-Rot
On Sag On Sol
92243928 92243929
CH-20945
Salincak Burcu
On Alt
92236899
6th Gen 2016 after
|
CH-121012 CH-121011
Rotbasi Rotbasi =
On Sol Dis On Sag Dis
22961953 22961954
2006-2018
|
CH-13603 CH-12601
Rot Mili Rotbasi
On On
M14x1,5 M14x1,5
96626521 C96626667

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

8

info@parsrot.com



Rot sy

== Land CHEVROLET
CAPTIVA 2006-2018
CH-16608 CH-16609
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
C96819162 C96819161
."-"l__
|
CH-16608N CH-16609N
N Rotilsiz Salincak Rotilsiz Salincak
’ OnSagAlt  On Sol Alt
C96819162 C96819161
|
CH-14605 CH-14606
Z-Rot Z-Rot
Arka On Sag
L=167mm L=286mm
96626150 C96626248
CH-14607 CH-11604
Z-Rot Rotil
‘—=ﬂ On Sol On Alt
L=286mm  cogg50064
C96626247
|
CH-20240 CH-20241
Salincak Burcu Salincak Burcu
Orta On Dis
C96819162 C96819162
2012-2018
|
CH-12611 CH-14220
Rotbasg! Z-Rot & N
On Arka
AWD 45146379
19208276
CH-13223
Rot Mili
On
POWER/ELECTRIC
- 19149839

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

CAVALIER

CHEVY MONZA

CHEVROLET
3rd Gen 1995-2005
|
CH-13873 CH-12871
Rot Mili Rotbasi
On On
26026745 26057931
|
CH-11875 CH-16878
Rotil Rotilli Salincak
On Alt On Sag Alt
88967431 15217437
|
CH-16879 CH-16878N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
15217436 15217436
CH-16879N CH-14870
Rotilsiz Salincak Z-Rot
On Sol Alt On
15217437 22710259

1994-2001

OP-16136 OP-16135N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
352003 352003S
OP-16136N OP-11112
Rotilsiz Salincak Rotil
On Sol Alt On
3520035 ~ D=@15mm
1603187
OP-16135 CH-20109
Rotilli Salincak Salincak Burcu
On Sag Alt Orta
352002 90170152

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land CHEVROLET
(o4 [AA'A " [0]\'V 4 1999-2001
.|

CH-20110

— Salincak Burcu

Orta

90445097

CHEVY PICKUP

‘ f:' "‘H
[ | 1
|
|
Z | |
| I |

1999-2001

OP-11142 OP-16145
Rotil Rotilli Salincak
On  OnSag Alt @
D=015mm 5350012
90539896
OP-16146 OP-16145N
Rotilli Salincak Rotilsiz Salincak
OnSol At  On Sag Alt @
5352011 5352012S
OP-16146N
Rotilsiz Salincak
On Sol Alt
5352011S
2001-2005
OP-11152 OP-16155
Rotil Rotilli Salincak
On On Sag Alt
D=@16mm 352063
9196394
OP-16156 OP-16155N
Rotilli Salincak Rotilsiz Salincak N
OnSolAlt  On Sag Alt \
352061 352042 ! /
OP-18150 OP-16156N
Salincak Tamir Kiti Rotilsiz Salincak —
On On Sol Alt
Only:MexicoType 352041

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 11 info@parsrot.com



—
sy L and

CHEVY PICKUP

CHEVROLET

————— _________ ____________________________— —
2001-2005

CH-20291 CH-20292
Salincak Burcu Salincak Burcu
On Sag Altig On Dig
352310 93188303

CH-20292A
Salincak Burcu
Ie
352310

CH-12221 CH-11774
Rotbasi Rotil
On On Alt
19149840 25984681
CH-16778 CH-16779
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
25984681 25984680
CH-16778N CH-14776
Rotilsiz Salincak Z-Rot
On Sag Alt On
25984680 20784688
CH-14777 CH-16779N
Z-Rot Rotilsiz Salincak
On On Sol Alt
20784687 25984681
1st Gen
CH-12861 CH-11374
Rotbasi Rotil
On Dis On Alt
19152655 89040240

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

12

info@parsrot.com



—
sy L and

COLORADO

CHEVROLET
1st Gen 2003-2012
CH-11375 CH-13372
Rotil Rot Mili
On Ust Onig
89040241 ~ With4wd
89060621
CH-13373 CH-12851
Rot Mili Rotbasi
Onig On Dig
without4wd 26095458
26095456
CH-16378 CH-16379
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
8980058320 8980058330
CH-16378N CH-16379N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
8980058320 8980058330
CH-14370 CH-14376
Z-Rot Z-Rot
Arka On Sag
15196858 withz71-offroadpkg
15167957
CH-14377
Z-Rot
On Sol
withz71-offroadpkg
15167956
C4 1984-1996
|
CH-13653
Rot Mili
On
15221006

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

13

info@parsrot.com



Rot sy

= Land CHEVROLET
CORVETTE C5 1997-2004

CH-13500 CH-13503
Rot Mili Rot Mili
On Arka
26055105 88955489

CH-12481 CH-12491
Rotbasi Rotbasi
On On
26086581 withoutsportsuspension
88955488

CH-14506
Z-Rot

Arka
Base&427.206,zr1&grandsport

20822934

CORVETTE C6 2005-2013

CH-14506 CH-13510

Z-Rot Rot Mili

Arka Arka
Base&427.Z06,zr1&grandsport 88955490
20822934

CH-12491 CH-13513

Rotbasi Rot Mili

On On
withoutsportsuspension 19168108
88955488
C7 2014 after

CH-13523 CH-12521
Rot Mili Rotbasi
On On Sag
22913277 22913275

CH-12522
Rotbasi

On Sol
22913276

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 14 info@parsrot.com



—
sy L and

CHEVROLET

————— _________ ____________________________— —
CRUZE 2009-2016

CH-13143 CH-16149
Rot Mili Rotilli Salincak
On On Sol Alt
M16x1,5-L=295mm C13272605
13278358
CH-16148 OP-12511
Rotilli Salincak Rotbasi
On Sag Alt On
C13272606 13286686
OP-14517 BU-20205
Z-Rot Salincak Burcu
On Orta
C13219141 352866
CH-20222
Salincak Burcu
OnDig
352491
2nd Gen
OP-13523 OP-12521
Rot Mili Rotbasi
On On Sag
13464344 39008083
OP-12522 OP-14526
Rotbasi Z-Rot
On Sol On Sag
30008084  AT307MM
39001004
OP-14527
Z-Rot
On Sol
A=307MM
39001003

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

2016 after

parsrot.com

15

info@parsrot.com



Rot sy

== Land CHEVROLET
EPICA V250 2005-2011
CH-14107 CH-13113
Z-Rot Rot Mili
On Sol On
L=80mm M14X1,5-L=356mm
96225858 93740701
|
CH-12111 CH-11114
Rotbasi Rotil
On On
M14x1.5 96445783
93740710
CH-16118 CH-16119
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
96970076 96970077
CH-14106 CH-14110
Z-Rot Z-Rot
On Sag Arka
L=80mm L=197mm
96225859 96639910

EQUINOX 2005-2009

CH-19237 CH-16228
Denge Kolu Rotilli Salincak
Arka On Sag
22678193 25878028
CH-16229 CH-18222

Rotilli Salincak Salincak Tamir Kiti
On Sol On
25878029 K621136
CH-14226A CH-14227A
Z-Rot Z-Rot
On Sag On Sol
15218267 15218268

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

EQUINOX

CHEVROLET
2005-2009

CH-14280 CH-12221
Z-Rot Rotbasi
Arka On
22692175 19149840
CH-11604 CH-14220
Rotil Z-Rot
On Alt Arka
C96852964 15146379
CH-12611 CH-13223
Rotbasi Rot Mili
On On
4WD POWER/ELECTRIC
19208276 19149839
2nd Gen
OP-14435A OP-14436A
Z-Rot Z-Rot
On Sag On Sol
95942520 350231
CH-13232 CH-13233
Rot Mili Rot Mili
Onig On
electrictype POWER/HYDRAULIC
19207056 19210063
CH-12231 CH-12241
Rotbasi Rotbasi
On On
Power/HydraulicSteering PowerElectric
19210064 19207057
CH-11235 CH-16238
Rotil Rotilli Salincak
On Alt On Sag Alt
20945780 20945780

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

17

info@parsrot.com



Rot sy

= Land CHEVROLET
EQUINOX 2nd Gen 2010-2017
|
CH-16239 CH-19237
Rotilli Salincak Denge Kolu
On Sol Alt Arka
20945779 22678193
| |
CH-14230 CH-20241
Z-Rot Salincak Burcu
Arka On Dig
15926031 C96819162
| |
CH-20240
Salincak Burcu
Orta
C96819162
EVANDA V200 2003-2006
|
CH-12101 CH-11105
Rotbasi Rotil
On On
M14x15Rht  D=@18mm b
93740710 C96639918
|
CH-16108 CH-16109
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
96389492 96389491
CH-16108N CH-16109N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
96389492 96389491
| |
CH-14107 CH-14106
Z-Rot Z-Rot
H On Sol On Sag H
L=80mm L=80mm
96225858 96225859

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land CHEVROLET
EVANDA V200 2003-2006
|
CH-20583 CH-20581
Salincak Burcu Salincak Burcu
Onig Sag
_ 96328434 96970075 .
| |
CH-20582
— Salincak Burcu
Sol
96970074
EXPRESS 1500 1st Gen 1996-2002
|
CH-11825 CH-12531
Pam Rotil Rotbasi
:"‘,’; “' On Alt On Dis
A ’ 15659724 26059033
CH-12971 CH-460
— Rotbasi Z-Rot
Onig Arka
26059032 159663924
2nd Gen 2003-2014
|
CH-456 CD-16117
Z-Rot Rotilli Salincak —
On On Ust
25747956 15864153
CH-13453 CH-13543
Rot Mili Rot Mili
Onig Onig
19207100 (PowerCon.)
19257595
CH-12451 CH-16158
Rotbasi Rotilli Salincak
On On Sag Alt
ES80311 15750831

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

19

info@parsrot.com



Rot sy

= Land CHEVROLET
EXPRESS 1500 2nd Gen 2003-2014
|
CH-16159 CH-14450
Rotilli Salincak Z-Rot N\
OnSolAt  On :’j'" | “‘"':
_ 15750830 4656260AA
EXPRESS 2500 1st Gen 1996-2002
|
CH-11785 CH-11825
Rotil Rotil —
On Ust On Alt
_ 15969282 15659724
EXPRESS 2500 2nd Gen 2003-2014
| |
CD-16117 CD-16119
— Rotilli Salincak Rotilli Salincak —
On Ust On Sag Alt
_ 15864153 12475480
| |
CD-16118 CH-14450
— Rotilli Salincak Z-Rot —
On Sol Alt On
_ 12475479 4656260AA
| |
CH-12451 CH-456
Rotbasi Z-Rot
On On
ES80311 25747956
EXPRESS 3500 1st Gen 1996-2002
| |
CH-11785
— Rotil
On Ust
15969282

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land
HHR 1st Gen
CH-12841 CH-16778N
- Rotbasi Rotilsiz Salincak
On On Sag Alt
25956921 25984680
CH-16779 CH-16779N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On Sol Alt
25984680 25984681
CH-12221 CH-16778
Rotbasi Rotilli Salincak
On On Sag Alt
19149840 25984681
CH-11774
Rotil
On Alt
25984681
IMPALA 10th Gen
|
CD-14150 CH-12171
Z-Rot Rotbasi
Arka On
22810912 withoutperformancepkg
22776539

IMPALA 8th, 9th Gen
7 CH-11604 CH-13273
Rotil Rot Mili
On Alt On
C96852964 26021769
CH-12161 CH-12162
Rotbasi Rotbasi
On Dis On
W/SPECIALSUSPENSION W/OSPECIALSUSPENSION
26086579 26086580

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

CHEVROLET

2006-2011

2014-2019

parsrot.com

info@parsrot.com



Rot sy

= Land CHEVROLET
IMPALA 8th, 9th Gen 2000-2013
|
CH-16168 CH-16169
= Rotilli Salincak Rotilli Salincak =
On Sag On Sol
22947663 22947664
CH-14166 CH-14167
— Z-Rot Z-Rot
On Arka
10403402 20985982
LACETTI J200(OPTRA) 2003-2012
|
CH-13303 CH-12301
Rot Mili Rotbasi
£ (== s On On Sag
M14X1,5Rht-L=285.5mm M14x1,5Rht
96061907 96407486
|
CH-12302 CH-11305
e Rotbasi Rotil
On Sol On
B M14x15Rht  D=@18mm
96407485 96490218
|
CH-11315 CH-16308
Rotil Rotilli Salincak
On Alt On Sag Alt
(AutomaticTransmission) 96415064
96436598
CH-16309 CH-16318
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag
96415063 AutomaticTransmission
96436598
CH-16319 CH-16308N
Rotilli Salincak Rotilsiz Salincak =
On Sol On
~ AutomaticTransmission 96415064
' 96436597

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

22 info@parsrot.com



Rot sy

== Land CHEVROLET
LACETTI J200(OPTRA) 2003-2012
|
CH-14306 CH-14307
_ Z-Rot Z-Rot .
\i—* On Sag On Sol ,—‘
L=272mm L=272mm
96403100 96403099
| I
CH-14310 CH-20586
Z-Rot Salincak Burcu
mmm— ‘ Arka Arka
Plastic L=217mm 96391856
96561754
| I
CH-20587 CH-20589
Salincak Burcu Salincak Burcu
Orta On Alt Dig
_ 96436598 96436598
LUMINA 1st Gen 1990-1995
| |
CH-14940
— Z-Rot
Arka
_ 10259660
LUMINA 2nd Gen 1995-2001
| |
CH-14940 CH-11935
— Z-Rot Rotil -
Arka On Alt
_ 10259660 17989117
|
CH-12931
— Rotbasi
On
_ 26062163
MALIBU 6th Gen 1997-2005
| |
CH-13343
— Rot Mili

n
* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot:com~"

26073562

23

info@parsrot.com



Rot sy

= Land CHEVROLET
MALIBU 6th Gen 1997-2005
CH-111004 CH-12341
Rotil Rotbasi
On Alt On Dig
. 22157023 89047756 _
| |
CH-14590
— Z-Rot
On
15024511
MALIBU 7th Gen 2004-2012
| |
OP-14517 CH-13323
— Z-Rot Rot Mili —
On On
C13219141 20995477
CH-12321 CH-16348
— Rotbasi Rotilli Salincak
On On Sag Alt
15944090 22730776
CH-16349 CH-14320
Rotilli Salincak Z-Rot
On Sol Alt On
22730775 22670300
|
OP-14479
Z-Rot
Arka
444275
MALIBU 8th Gen 2013-2016
CH-13337 CH-12331
Rot Mili Rotbasi
On On Sag

Without19wheels.Withride&handlingpkg.

13354600

13354598

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

24

info@parsrot.com



—
sy L and

MALIBU

8th Gen
CH-12332 CH-14330
Rotbasi Z-Rot
On Sol On
13354596 20961222
OP-14514 CH-16339
Z-Rot Rotilli Salincak
Arka On Sol Alt
444081 22854825
CH-13333 CH-16338
Rot Mili Rotilli Salincak
On On Sag Alt
1609181 22854826
CH-13336 BU-20961
Rot Mili Salincak Burcu
On On
2.4&2.5L.With19wheels. 29854828
1609183
9th Gen
BU-20961 CH-16338
Salincak Burcu Rotilli Salincak
On On Sag Alt
22854828 22854826
CH-16339 OP-12561
Rotilli Salincak Rotbasi
On Sol Alt On Sag
22854825 23449523
OP-12562
Rotbasi
On Sol
23449522

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

CHEVROLET

2013-2016

parsrot.com

25

info@parsrot.com



Rot sy

== Land CHEVROLET
MALIBU LIMITED 9th Gen 2016 after
|
CH-12332 CH-12331
Rotbasi Rotbasi
On Sol On Sag
_ 13354596 13354598
1998-2001
|
SZ-11405 SZ-16427
Rotil Rotilli Salincak
On Alt On Sag A
4520270C00 4520170C00
|
SZ-16428
Rotilli Salincak
On Sol
4520270C00
MONTANA (Tornado) 2003-2010
|
OP-18150 CH-20292
Salincak Tamir Kiti Salincak Burcu
On On Dis
Only:MexicoType 93188303
|
CH-20291
N Salincak Burcu
R ! On Sag Alt I
_ 352310
MONTE CARLO 5th Gen 1995-1999
| |
CH-14940 CH-11935
Z-Rot Rotil
Arka On Alt
10259660 17989117

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

26

info@parsrot.com



Rot sy

= Land CHEVROLET
N300 ( Argentina) 2006 after
|
CH-13753 CH-12751
Rot Mili Rotbasi
On On Sag
23868906 24510351
| |
CH-12752
— Rotbasi
On Sol
24510351
OPTRA J200 2003-2012
| |
CH-14310 CH-14307
Z-Rot Z-Rot .
d Arka On Sol ’_‘
Plastic L=217mm L=272mm
96561754 96403099
| |
CH-14306 CH-16308N
_ Z-Rot Rotilsiz Salincak N
\i——* Oonsag  On \“‘1:
L=272mm 96415064
96403100
| |
CH-16309 CH-16308
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
96415063 96415064
| |
CH-11305 CH-12302
Rotil Rotbasi &
On On Sol
D=@18mm  M14x1,5Rnt b:
96490218 96407485
| |
CH-12301 CH-13303
P Rotbasi Rot Mili
m” On sag On A —
M14x1,5Rht M14X1,5Rht-L=285.5mm
96407486 96061907

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land CHEVROLET
REZZO U100(VIVANT) 2004-2009
CH-13403 CH-12401
Rot Mili Rotbasi
o On On Sag
M14x1,5-L=238,7mm M14x1,5Rht
C521564 96261379
I
CH-12402 CH-11405
& Rotbasgi Rotil
k_/___ On Sol On
e e o M14x1,5Rht D=@16mm
96261378 96261108
I
CH-16408 CH-16409
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
96423324 96422220
|
DAW-14311 CH-20587
Z-Rot Salincak Burcu
‘—‘;—‘ On Orta
L=262mm 96436508
96391875
S-10 1st Gen 1982-1993
| |
CH-14562
Z-Rot
On
_ 15991383
S-10 2nd Gen 1995-2004
| |
CH-14590
— Z-Rot
On
. 15024511
S-10 2nd Gen 1995-2005
| |
CH-12571
— Rotbasi

n
* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot:com~"

31026500

28

info@parsrot.com



Rot sy

1st Gen, GMT800

== Land CHEVROLET
S-10 2nd Gen 1995-2005
|

CH-12561

— Rotbasi

OnDig

. 8260549360
SILVERADO 3rd Gen 2014-2019
| .|

CH-13473

— Rot Mili

Onig

22913605

1999-2006

CH-12711 CH-12761
Rotbasi Rotbas!

Arka Dis On Dis
26091587 26076544
CH-12431 CH-11435
Rotbasi Rotil

On Dis On Alt
15891515 2WD
19207137
CD-14110 CH-12811
Z-Rot Rotbasi
On On Dis
12542993 26059226
CD-13103 CD-11115
Rot Mili Rotil
On On Ust
M14x1,5-L=300mm K6540
15295861
CH-161014
Rotil
On Alt
15750786*

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

29

info@parsrot.com



ﬂo[n
= Land CHEVROLET

SILVERADO 1500 2nd Gen, GMT900 2007-2013

CH-16894 CH-16895

Rotilli Salincak Rotilli Salincak _—

On Sag Alt On Sol Alt
w/PolicePackage w/PolicePackage

25997510 25997509

CH-14471
P Z-Rot
A o
15835052

SILVERADO 1500 3rd Gen 2014-2019

CH-11794
Rotil

On Alt
22855747

SILVERADO 2500 1st Gen, GMTS800 1999-2006

CH-12431

Rotbasi
On Dis
15891515

2nd Gen 2011-2018

CH-11465
Rotil

On Alt
19256656

SILVERADO 2500 3rd Gen 2011-2019

CH-12475
Rotbasi

OnDis
22913602

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 30 info@parsrot.com



Rot sy

= Land CHEVROLET
SILVERADO 3500 1st Gen 2001-2010
|
CH-14470
— Z-Rot
Arka
. 15089907
SILVERADO 3500 2nd Gen 2011-2018
| |
CH-11465
N Rotil
(] On Alt
19256656
M300 2010-2016
|
CH-13803 OP-13933
Rot Mili Rot Mili =
On On
M12X1,25-L=244mm 05371542
95967294
CH-14805 CH-12802
Z-Rot Rotbasi
On On
L=235mm M12X1,25
95947829 95967285
CH-11804 CH-16808
Rotil Rotilli Salincak
On Alt On Sag Alt
95952783 95952783
CH-16809 CH-20751
Rotilli Salincak Salincak Burcu
On Sol Alt Onig
95952782 95952783
CH-20752
Salincak Burcu
On Dis
95952782

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 31 info@parsrot.com



Rot sy

= Land CHEVROLET
SSR 2003-2005

CH-16909 CH-16908
P~ Rotilsiz Salincak Rotilsiz Salincak
| On Sol On Sag
25786774 25786775

N
|
I“ ‘
| |
I |
F 4

10th Gen,GMT900 2007-2014

CH-11835
Rotil

On Alt
withPolicePackage

19256481

SUBURBAN 8th Gen 1992-2000

CH-12961 CH-14887
Rotbasi Z-Rot
Onlc Arka
26059036 15961007

| =]
CH-11785
N Rotil
| On Ust
_ 15969282
SUBURBAN 9th Gen 2000-2006

CH-13430 CH-13433
Rot Mili Rot Mili
Arka Onig
26091588 19152329

CH-161014
L~ Rotil
On Alt
15750786*

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 32 info@parsrot.com



Rot sy

= Land CHEVROLET
TACUMA 2000-2008
|
CH-20587 DAW-14311
— Salincak Burcu Z-Rot
Orta On ‘—‘—*——‘
— 96436508  --262mm
96391875
| |
CH-16409 CH-16408
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
96422220 96423324
| |
CH-11405 CH-12402
Rotil Rotbasi -
On On Sol &\_/__
D=@16mm M14x1,5Rht L et .
96261108 96261378
|
CH-12401 CH-13403
& Rotbasi Rot Mili
“\A OnSag  On o
- g, M14x1,5Rht M14x1,5-L=238,7mm
96261379 C521564
TAHOE 1st Gen 1992-2000
| |
CH-14887 CH-11865
Z-Rot Rotil
Arka On Alt
- 15961007 ~ AWD
' 12383410
| |
CH-11984
Rotil
On Ust
15687080
TAHOE 2nd Gen, GMT800 2000-2006
| |
CD-16118 CD-16119
— Rotilli Salincak Rotilli Salincak N
OnSolAlt  On Sag Alt N
12475479 12475480

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

33

info@parsrot.com



—
sy L and

TAHOE

2nd Gen, GMT800

CHEVROLET

2000-2006

CD-11115 CH-11890
Rotil Rotil

On Ust On Alt

K6540 19209396 _
CD-16117 CH-13433

Rotilli Salincak Rot Mili
On Ust Onig
15864153 19152329

2nd Gen, GMT800

CH-12811
Rotbasi

On Dis
26059226

3rd Gen, GMT900

CH-19954
Denge Kolu L~
Arka Alt

22868629

CH-19954 CH-11890
Denge Kolu Rotil
Arka Alt On Alt
22868629 19209396
CH-16894 CH-12891
Rotilli Salincak Rotbasi
On Sag Alt On Dis
w/PolicePackage 15254061
25997510
CH-13893 CH-16898
Rot Mili Rotilli Salincak
On On Sag Ust
19178561 25812726
CH-16895 CH-14897
Rotilli Salincak Z-Rot
On Sol Alt Arka
w/PolicePackage 15257472
25997509

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land CHEVROLET
TAHOE 3rd Gen, GMT900 2007-2014
|
CH-16899 CH-14896
Rotilli Salincak Z-Rot
On Sol Ust On
_ 25812725 25918049
GMTK2UC/G 2015 after
|
CH-11794
Rotil
On Alt
_ 22855747
TORNADO 2003-2016
| |
CH-13703 OP-12140
Rot Mili Rotbas! —
On On
M14X1,5-L=275mm M14x1,5
93388624
| |
OP-14411 OP-16156
Z-Rot Rotilli Salincak
é_=_‘ On On Sol Alt
Only:MexicoType L=243mm 352061
5236823
| |
OP-16155 OP-11152 <
Rotilli Salincak Rotil 3
On Sag Alt On
352063 D=@16mm
9196394
TRACKER 2nd Gen 1998-2005
| |
CH-13923 CH-12921
— Rot Mili Rotbasi —
On On Sag
91175548 91174753

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

TRACKER

CHEVROLET
2nd Gen 1998-2005
|
CH-12922
Rotbasi
On Sol
91174754
1st Gen 2002-2009
CH-11185 CH-16908
Rotil Rotilsiz Salincak
On Ust On Sag
8191336380 25786775
CH-16198 CH-11184
Rotilli Salincak Rotil
On Sag Alt On Alt
2004-2007 4X4
19133556 8191336700
CH-13183 CH-12182
Rot Mili Rotbasi
Onig On Sol Dig
26100288 4011886
CH-12181 CH-16909
Rotbasi Rotilsiz Salincak
On Sag Dis On Sol
4011887 25786774
CH-14186A CH-16199
Z-Rot Rotilli Salincak
On Sag On Sol Alt
steeltype 2004-2007
15918822 19133555
CH-14188A CH-14187A
Z-Rot Z-Rot
Arka Sol On Sol
steeltype steeltype
88982342 15918823

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

36

info@parsrot.com



Rot sy

= Land CHEVROLET
TRAILBLAZER 1st Gen 2002-2009

CH-14189A CH-180

Z-Rot Z-Rot
Arka Sa§ On
steeltype K6629
88982343
1st Gen
CH-914 BU-20986
Denge Kolu Burcu Salincak Burcu
Arka Arka Ust
C2D4013 15148024
BU-20985 CH-19911
Salincak Burcu Denge Kolu
Arka Alt Arka Ust
23461856 15148024
CH-13913 CH-19917
Rot Mili Denge Kolu
On Arka Alt
20817752 23461856
CH-14916 CH-14910
Z-Rot Z-Rot
Arka On
15129234 20905104
CH-11915 CH-12912
Rotil Rotbasi
On On
19207521 15869897
CH-16918 CH-16919
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
20774419 25995438

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land CHEVROLET
UPLANDER 2005-2008
I
CH-14356 CH-14357
Z-Rot Z-Rot
Arka Arka
2WD 4WD
- 15851956 15232855
I I
CH-12341
— Rotbasi
OnDig
89047756
VENTURE 1997-2005
[ I
CH-13653
N\ Rot Mili
:_15,. \‘\P: o
N 15221006
VOLT 1st Gen 2010-2015
[
OP-14517 OP-12511
Pamn Z-Rot Rotbasi
Ay on  On
| / C13219141 13286686
I
CH-16148 CH-16149
= Rotilli Salincak Rotilli Salincak o
On Sag Alt On Sol Alt
B C13272606 C13272605
[
CH-13143 BU-20205
= Rot Mili Salincak Burcu o
On Orta
M16x1,5-L.=295mm 352866
- 13278358
VOLT 2nd Gen 2016-2019
[ I
OP-12521
— Rotbasi

On Sag
* Bu belgede kullanilan arag marka, model, Iogo,%EM numaralari, vb. bilgiler referans amagli kullanilmistir.

parsrot:com~"

39008083

38

info@parsrot.com



—
sy L and

VOLT

CHEVROLET
2nd Gen 2016-2019
——
OP-13523 OP-14527
RotMili  Z-Rot
On On Sol
13464344  A307TMM
39001003
OP-14526 OP-12522
Z-Rot Rotbasi
On Sag On Sol
A=307TMM 39008084
39001004

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

39

info@parsrot.com






